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2. The cash records of Asia Company show the following: (10% )

(@) The June 30 bank reconciliation indicated that deposits in transit
totaled $390. During July the general ledger account Cash shows
deposits of $9,800, but the bank statement indicates that only $9,540
in deposits were received during the month.

(b) The June 30 bank reconciliation also reported outstanding checks of
$800. During the month of July, Asia Company books show that
$11,070 of checks were issued, yet the bank statement showed that
$11,500 of checks cleared the bank in July.

There were no bank debit or credit memoranda and no errors were made by

either the bank or Larkin Company.Answer the following questions:

(@) What were the deposits in transit at July 31?

(b) What were the outstanding checks at July 31?

3. Ya Company is in the electronics industry and the price it pays for inventory
Is decreasing. (25%)
Indicate which inventory method (Average cost, FIFO, or LIFO) will:
(@) provide the highest ending inventory.
(b) provide the highest cost of goods sold.
(c) result in the highest net income.
(d) result in the lowest income tax expense.
(e) produce the most stable earnings over several years.
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